2 )
& 200 Mi2l=¢l
2 210 24 HM2 =8
Ej 211 Moty O =& (cte &
fA - O &4 & Ol &F K Hns
6,616,571 4,778,603 1,837,968
A4usSHh 6,616,571 4,778,603 1,837,968
200 Al2l=+=¢l 339,468 306,868 32,600
210 ZYH M2 +¢ 197,968 165,368 32,600
211 A= 87,000 64,000 23,000
211-01 =S HASHE 87,000 64,000 23,000
O=sMa dUR( 7,000
O=s M AUz (= 80,000
212 A28 +Y 80,768 80,768 0
212-01 E2AER 74,668 74,668 0
OZMNER 74,668
212-09 JIEtAIE = 6,100 6,100 0
OsF M AIEE 2,500
O8gd=xd #% 3,600
214 A =gl 30,000 20,400 9,600
214-05 JEtAIEE =& 30,000 20,400 9,600
OsZ&d uszg 12,000
OSgus+4 =2 18,000
216 Ol K=+~ & 200 200 0
216-03 J|EtOI Xt =& 200 200 0
OJIEtOI Rt =& 200
230 NSHIMM - Fh= 141,500 141,500 0
231 &= 7,400 7,400 0
231-01 #¥ = 7,400 7,400 0
OR=2g 2dxe 5,000
OXsit&cly 2 1,700
ONSIAZ+ArS Y 700
233 = 1,100 1,100 0
233-01 Ha =z 1,100 1,100 0
O=S M Had3z3(s 100
O=s M a3z (=2 1,000
234 B ZE 133,000 133,000 0
234-02 JIEtHEH = 133,000 133,000 0
OXsxt2el g <l 40,000
Od&iiazeld 9L U= 2,000
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fA: AL WS B
& 200 M2
= 230 NLHIMM - F=
gt 234 LEf= (CHel &)
SN &2 Ol & 4 & E = Off AU Husz
ONSxtEoitiat2dE 28t 20,000
O= - 3xt 2Lt UWehz 70,000
500 X3 6,277,103 4,471,735 1,805,368
510 = 12x3S 4,344,500 2,511,000 1,833,500
511 =2102x3S 4,344,500 2,511,000 1,833,500
511-01 =2 =x= 2,480,500 1,109,000 1,371,500
OF=Z20l= ANE =888 MY 750,000
OU=X7 SIAX SU/AEXNF A 100,000
O&IXF SFAX SUASKF e 400,000
OsSH3XT SZAX SUR/ASAZ e 100,000
OXg2eld T MME = 358,000
OMoll /I M==X ZJHIAL 330,000
Os&d ns2g Ag 250,000
Ol d A243 (320 cd) 153,000
020228 SAIZ X 244 19,500
gollot YSHYS2 = 20,000
511-02 =D S LASEEIHE XS 1,864,000 1,402,000 462,000
OXT LA 200,000
O2k 2+X2dAE AL 100,000
O=zZ12sd =1 d SA 800,000
OokeEs+Y o 200,000
O0golEs+9Y e 50,000
Ods8 FHN SSFUY gAY 444,000
O=28HE UWEsusS(ORTAIAHY 29 1,800
OEEd #H=8A 28 XA (19Hx) 68,200
520 Al - EHIEZXEZS S 1,932,603 1,960,735 N28,132
521 Al - EHIEXZE 1,932,603 1,960,735 28,132
521-01 Al - THIEX=S 1,932,603 1,960,735 N28,132
Oz=E=+3 92| 302,450
ozdzeg N 39,100
Ooelol s&t2 AIEHEAd 76,200
OU=XNT SZAA SUAEXTF KA 30,000
OaIXNT SZAA SUASX T KA 120,000
OSH3XT SZAMX SUAEXF HA 30,000
OMall /& XM==X ZJHIAL 84,000
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5,000
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900
114,887
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8,941
51,000
1,525
34,100
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